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Part one: Grammar
Directions: Complete the following sentences by choosing the best answer.

131. For safety purposes, the HSE experts requested that the staff .................
the laboratory by Sunday.

a. to evacuate b. be evacuated

c. evacuated d. evacuate

132. She had her glasses ............... by an optometrist.

a. fitting b. fitted

c. tofit d. fit

133. Having discovered the Covid-19 vaccine in a small laboratory, ............... .

a. the scientists won an international prize for their discovery
b. the scientists’ discovery was awarded an international prize
c. an international prize was awarded for scientists’ discovery
d. an international prize was awarded to the scientists

134. The verbal interaction between the nurse and the patient will constitute

a solid relationship ................ they can tackle the cultural misunderstandings.
a. for that b. with which
c. through whom d. of them
135. University students .................... in bioinformatics may take compulsory
courses including computational biology, genetics, and genomics.
a. interested b. are interested
c. to be interested d. having interested
Gols sl
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136. Had one’s date of death been unknown, the forensic medicine specialist
<ereeeeeeee the abbreviation ‘dec.’ (to denote “deceased”).

a. will use b. have used

c. will be using d. would have used

137. It is essential that the representative of the research funding body
weeeeeeneeee. the Ethics Committee to discuss the issue.

a. attends b. attend

c. attended d. attending

Part Two: Vocabulary
Directions: Complete the following sentences by choosing the best answer.

138. Despite the seriousness of the patient’s injury, the surgeon ................ to
initiate the operation.

a. hastened b. recommended

c. declined d. hurried

139. Students in our class are quite successful as they do their best to ...........
recent achievements in their field.

a. keep abreast of b. keep away from
c. stay in the way of d. get stuck into
140. The manager’s decision to ................ a request for wage raise caused
huge discomfort among the hospital staff.
a. rehearse b. reignite
c. reject d. reiterate
141. Researchers claim that, by adopting some good life habits, one can
................ the progression of some acute diseases.
a. consolidate b. intensify
C. accelerate d. overturn
Gols slagwly
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142. The empirical evidence reveals that teenagers who do not spend quality

time with their parents are more .................. alcohol and drug abuse.
a. prone to b. resistant to
c. assisted by d. safeguarded by
143. Severe iron deficiency can cause developmental delay and growth ......... .
a. retardation b. promotion
c. acceleration d. achievement
144.Your ............. an indecent life will certainly lead to adverse effects on your
health conditions.
a. denial of b. endorsement of
c. discontent with d. abstinence from
145. The dwellers in this area asked the government to ............. the laws that
were in conflict with the residents’ benefits.
a. preserve b. abolish
c. extend d. approve
Gols slaguwly
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Part Three. Reading Comprehension

Directions: Read the following passages carefully. Each passage is followed by
some questions. Complete the questions with the most suitable words or
phrases (a, b, ¢, or d). Base your answers on the information given in the passage
only.

Passage 1

Two apparently contradictory admonitions are heard today. We are
frequently warned that mechanization of data processing operation is not an
automatic blessing, that there is no universal system suited to all hospitals. And
that institutions frequently underestimate the cost and the time needed to
convert the existing system to a mechanical basis. Just as often we are reminded
that increasing demand for hospital services require electronic data processing
(EDP) techniques. A study indicates that “an exploding population, longer life
expectancy, greater utilization of hospitals, and the anticipated shortage of
physicians are all factors which make it essential that medical personnel be freed
as much as possible from the routine tasks of gathering and handling data.”
There are two views of the same picture. The personnel in charge of recoding
medical cases in hospitals, concerned as they are with information handling,
must be able to look both ways. Along with their administrators, they will be
wise not only to “look before they leap” into automation, but also to remember
that eventually they must take this big step in larger hospitals.

146. The author of the passage is ................ the rapid conversion of hospitals
to electronic data processing.

a. indifferent to b. impartial about

c. biased about d. critical of

147. It is understood from this passage that hospitals should .................... .

a. cautiously adopt electronic data processing

b. have already abandoned the mechanical systems
c. keep the existing system unchanged

d. cautiously adopt the universal systems

148. According to the passage, the automation of hospital data can help to
a. expand life expectancy
b. increase the number of hospital staff

c. deal with population growth more successfully
d. reduce the need for additional medical records personnel

10
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149. The personnel responsible for medical records .........c..cccoevremneecnnenens .
a. were the first to go for the automation system

b. were strongly against the automation system

c. should be armed with mechanical and automation skills

d. would become redundant due to the automation system

150. The underlined pronoun “they” in the last sentence refer to .............. .
a. cases b. ways

c. personnel d. administrators

Passage 2

Physical inactivity is a key risk factor for non-communicable diseases, and the
fourth leading cause of early death globally. Physical inactivity has reached
alarming levels in the Eastern Mediterranean Region, which has the second
highest level of physically inactive populations among WHO regions and the
highest level for women. Recent estimates show that approximately 31% of the
world’s population does not undertake the recommended amount of physical
activity to protect their health. In the region, available data form 8 countries
show levels of inactivity range from about 30% to as high as 70%. Of concern is
that less than half of the countries of the region have systematic monitoring of
levels of physical activities in adults and children, and very few countries have
commenced any comprehensive action aimed at increasing levels of activity,
through sports, recreation, cycling, and walking. In 2011, the UN Political
Declaration on Prevention and Control of Non-Communicable Diseases, agreed
by all the member states, renewed the call on member states to take actions to
reduce physical inactivity. Although the need to implement was one of the key
issues in 2012, at the world health assembly in May 2013, it was endorsed by
member states to reach the target of a 10% reduction in physical inactivity by
2025. The “global recommendations on physical activity for Health” address
three age groups of 5-17 years old, 18-64 years old, and 65 years old and above,
stressing that physical activity is fundamental in achieving energy balance and
weight control. Physical activity reduces the risk of heart diseases by 30%,
diabetes by 27%, and breast cancer by 21%- 25%.
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151. Among WHO regions Eastern Mediterranean Region has the ................... .
a. alarming levels for non-communicable diseases

b. highest level of physically inactive populations

c. highest level of inactive woman

d. fourth level of early death

152. According to this Passage, .......ccccccceeveerereinernrennessessnesessecsnenns

a. inactivity level is the same in all countries of the Eastern Medlterranean
Region

b. eight countries in the Eastern Mediterranean Region have inactive population
c. inactivity of the world population is less than that of the Eastern
Mediterranean Region

d. over half of the world population do not observe the recommended amount
of activity

153. The author uses “as high as” in the passage to ..................... in the region.
a. underestimate the percentage of physical inactivity

b. endorse plans developed for physical activity

c. emphasize the extent of physical inactivity

d. praise the physical inactivity level

154. According to the passage, physical activity contributes to ..................... .
a. a considerable reduction in breast cancer

b. the attainment of physical fitness

c. weight gain in children under five

d. age-group classification
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155. According to this passage, .......cccccceeveececerveennens .

a. many of the countries in the region have already taken actions to increase
physical activity

b. less than 50% of the countries in the region have observed physical activity
thoroughly

c. several countries in the region have facilitated activities such as cycling and
walking

d. a large number of the countries in the region closely monitor physical activity
plans

Passage 3

Recurrent headaches characterized as migraine are among the most common
disorders of the nervous system which can cause severe throbbing pain or a
pulsing sensation. They are often accompanied by nausea, vomiting, and
extreme sensitivity to light and sound. People who suffer from migraines can
recognize that different triggers may get a headache started. Many migraine
sufferers say hot weather and low barometric pressure can act as triggers. A
study conducted in 2015 has attempted to compare weather conditions twenty-
four hours before hospital visits. for every increase of 5°C, the patients had a
7.4% higher risk of migraine.

The study has also found that age, gender, and where a person has extra body
fat may affect the risk of migraine. Whereas older people tend to suffer from
migraine less frequently than the youth.

Overweight people between the ages of twenty and thirty-five may have a
higher risk. On average, those who were larger around the middle were more
likely to have migraines than those of the same age with smaller waistlines.

Neurologists believe they have identified a hypersensitive nerve system that
prompts the pain; they are in the final stages of testing medicines that soothe
its overly active cells, these are the first drugs ever specifically designed to
prevent the crippling headaches before they start. If they deliver on the promise
they have shown in studies conducted so far, millions of headaches may never
happen.

156. According to patients’ reports, .........ccccevcecninnnee may provoke migraines.
a. extra body fat

b. larger waistlines

. nausea and vomiting

d. increased temperature

Soals sagwl
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157. As research indicates, the threats of migraine may decline ....................... .
a. as patients get older

b. as people gain weight

c. in proportion with body fat

d. in younger sufferers

158. In this passage, migraine pain has NOT been Characterized as ................. .
a. intense b. soothing

C. persistent d. debilitating

159. According to the passage, some neurologists believe that .....................
initiate(s) migraine in patients.

a. overactive nerve cells b. patients’ social status

c. mood change or fatigue d. sensitivity to drugs

160. As research goes on, migraine headaches are estimated to be ................. .

a. relieved medically as they emerge

b. controlled in better weather conditions
c. prevented by medication in advance

d. soothed if barometer pressure declines
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